5319

Register
Number

seooriglb / MATHEMATICS

( Tamil & English Versions )
Cmyd : 2 -:lz-mcouﬂ | [ Qurss wLHUGUTTs6T : 100

Time Allowed : 2 %Hours ] [ Maximum Mari{s : 100

Curgisepluyseat | General Instructions :

i) uQaur® ugHulld CerT@ssiiLl Geten GOILILseMNeTLY aﬁlmLuaﬂ&;mmm
Answer the questions according to the instructions given in each part.

i) alamsaase 2 salliugss Csoealu@urilsr g ool smefler
usshsellar QLILTESSM s,
The roughwork may be done if necessary, at the bottom of the pages in
the answer sheet.

i) GCsreuoplled oeflssiuEd wvLéos, wsCsramalud oL aeasisaer
L RGWL LweTURSS CeustsTHib.
The logarithmic and trigonometric tables issued at the centre alone should

- be used. .

UGS - 2 / PART - A
(wdiQuetoset : 15) / ( Marks : 15 )
epluyser | Instructions :
) Soads olamssEndsh aSleo)Lmerﬂé;&.qm
Answer all the questions.
i) prere wrppy ofoLsdie sflurer s @&u@un@ggmnm ellenL Wleeot
CoibOs0se awsab.
Choose and write the correct or most appropriate answer among the four
alternatives. 15x1 =15

1. 9® &l @% et auflosdle t = 8n-5 aafle GQurgy algdursnd

In an A.P. if t,=8n-5, then the common difference is

1) -5 2) 5
3 4 4) 8. .

2. a+ar+ar?+..... eesip (r< 1) wyapr CQUBEGS0sTLT CaT@lilear sgBad
The sum of the infinite geometric series a + ar + ar? + ...... where (r<1)is
S B
g all-re?) A arnl

1-r
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5319 2
3. o6 oeoaflér gpb 525 8 2 wuyd = 35, aeflle 2 Goeardlér aeeruriy
(& BSLfév )
If the radius of a cylinder is 52:5 m and height is 3 m, the curved surface area
of the cylinder is (in sq. m)
1) 55-5 2) 48
3) 315= 4) 315.
4. n[P[A)]=lsrsuﬂéon(A]=
If n[P(A)]=1,thenn(A)=
1) 2 _ 2) O
3 1 ' 4) 4.
5. A={1,2,3,4}, B={3,4} acll B-A=
If A={1,2,3,4}, B={3,4} thenB-A=
1) A 2 ¢
3 {12} 4 {3.4}.
6. x%-5x24+7x+4aep Careoeauwneag (x-1) 4o aessiubCurg oL @b
581
The remainder when x3 -5x2 + 7x + 4 is divided by (x-1), is

L1 = 2 -1
3) 7 ' 4) 4.
7. 169a8bCc* e autsseped

The square root of 169a®b%c*is

1) 13a®bCc* 2). 13a®b?c?

3) 13a%b3c? 4) 43a®bSc!.
8. 4x+y<5e Sowhs @@ Yerer

A point which lieson 4x+ y< 5 is

1) (L 1) 2 12.9)

3) (0,7) 4) (0,1).



10.

11

12.

13.

14,

15.

3 ) 5319

L dleniet &@mﬁ;ﬁ, Qemexayn eriGuTgd :

1) o® szgb - 2)  prhsrd Sy erma Glgsiausndie
3) Gsshousd =g FTD 4}  smlsggb.

The parallelogram inscribed in a circle is always

1) asquare . 2) quadrilateral but not a rectangle
3) rectangle or square 4) rhombus.

Quflu el L &g s;gou@g;@u: QGamesorid

1) &IfG@smemrd : 2) ©nuGsremid

3) CriGsrewid 4 QeaGsramd.

Angle in a major segment of a circle is '

1) obtuse angle 2) acute angle

3) straight angle . 4) right angle.

x =y e CprGariger smiey

Slope of the straight line x=y is

1) -1 2y 2
3 1 ' 4 o

(-3.2).(7,8) oyélu L.;snaﬂ&emsv Qeamseh Corl Hdg eong o smmu.[uqmsfr'l
The mid-point of the line segment joining the points (- 3, 2 ) and ( 7 8)is

1) 62.5) 245 21
3 (4.3) . 4 (2.-3)

sin 6 = tan 6 ereflév 0 &1 WY
If sin 8 = tan 6, then the value of 8 is

1) 30° Lo 2) 45°
3 0 4) 90-°.

&® yerefl efleuyhissiles BLQU® wHiy 98. siper afsés 73 aafler Sedly wdiy
The largest value of a data is 98. If the range is 73, the smallest value Is
1) - 50 . 2) 25 :

3 171 - _ 4) 24.

BTeTE HiTeoTwhsem G G{_r;gg,é]su & ool UU@ID Gurrgj &Gy @U W aﬂ@mg,g)aarrsm

Bopss)
Four coins are tossed simultaneously. The probability of getting exactly one tail

is
1) 2)

3) 4)

o o
sl i
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UGS - &, / PART - B’
(wgliCiuctoser : 20 / { Marks : 20)

efloy | Instruction : FgCaeib USE NTTTHEEHEE WL Hb el welléHaeyb.
Answer any ten questions. ' 10x2 =20

16. 6,1, -4, ..ae&mp &L@QQgrrl_r'r aflemstles 12608 2 nIliOUS HTENS.
Find the 12th term of the AP. 6, 1, - 4, ... .

17. 1+3+32+ .. aep Qsrdle 82 pliser ey wiy &reos.
_Find the value of 1 + 3 + 32 + ... upto 8 terms. -

18. @G sbller oyd 7 Q&.f. whpid 2 wyd 24 G515, aafler sbller ameaTUTLDUS

SITCOoI &,

The radius and the height of a cone are 7 cmn and 24 cm respectively. Find the

curved surface area of the cone.

19. AUB={2.3.4,5,6,8,9,11},ANB={58}wpnd B={2.5.89},

el A- B D& HTENE.
f AUB={2.34,56,8911},ANB={5 8}and B.={2.5,8.9}.I
find A - B.
20. AU (BN C)&® OeustoiuLb aleors.
[.)raw‘Ve'nn diagram for AU (B N C).
21. (x+ 2)eretrugy 4x3 + 5x?2 +px—2 -eb1 &y ey p Wlesr wHiy sreos.
If (x+2)isa factor of 4x3 + 5x2 + px - 2, then find p.

. a® 64
22. &@5@‘@: P s S

as 64
Simplify : A aod




23.

24,

25.

26.

27.

28.

29.

30.

5 ~ 8319
aueuoblld Hapsdlfioar amyupss.
Define ‘event’ in network.
10 Q&.8. sygweter el pFlé 12 Qe.f. Ferqpeion prefy el ewvwsdSnhs
eTelaueney STTHEI0 BYBSGD aeadh HTeEos.
How far is a chord of-length 12 cm away from the centre of a circle of radius
100cm ? |
w&Caremn ABCié DE || BC, AD = 6, DB = 10 uppib AE = 3 eafllés AC g
ST s, | '
In triangle ABC, DE || BC, AD = 6, DB = 10 and AE = 3. Find AC.
PO el s sowowd (-6, 4) s L gl om alllLgdldr oo weaiysraf
S dleiefl eresfler, H@DITEH Weveriysrefenius sreos.
The centre of a circle is (- 6, 4 ). A diameter of the circle has its one end at the
origin. Find its other end. .
3x+4y +7 =0, 28x - 21y + 50 = 0 gy &lw Ggﬁ@an@mm PHN&ECETSTY)
Qehi@dsreareame el Hlepllés.
Show that the straight lines 3x + 4y + 7 = 0 and 28x - 21y + 50 = O are
perpendicular to each other.
sin 8 = cos 0 ; Goad 8 B EnECHTeID aefler 2 tan2 0 - sin? 6 + 1 &1 wFHy
SHITGT0T6.
If sin 6 = cos 8 where 6 is an acute angle, find the value of
2tan?6-sin?9@ + 1.
20 2 puys@enéd Qe G Yerel alaugsdler fialassd whnb symed
wpopCu 21-2 wHnid 36-6 eaflé LTPUTLHE Ceemas STEs.
The standard deviation and the mean of 20 data items are 21-2 and 36-6
respectively. Find the coefficient of variation.
I UGG 2 BLLULS@DE. Wty usLsEsh Gy adaems
ST (DeugnHe et ﬂa@g&q eretTenT 7
Three dice are thrown. Find the probability that each of the three dice shows

the same number on its face.
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31.

32.

i)

b)

b)

6

u@dl -@) / PART - C
(wfluQueoser : 45) / ( Marks : 45)

efluyset | Instructions :
i)

gdTug laTéeErs@ aloLweaflébaayb.
Answer nine questions.
Coomauwurer alleTée@héH© LL kST eUys.

Draw diagrams wherever necessary. 9xb5 =45

300 &b 500 5@k GeLCu 11 9o uEGLED NOaTHE Gue acoaefsr

Fo(HHE HITE00IE.

Find the sum of all the natural numbers between 300 and 500 which are
divisible by 11.

<evevg / OR
9+ 99 + 999 + ...... eresip QB Qerellld nepuuseilar s srans.
Find the sum to n terms of the series 9 + 99 + 999 + ...... .

o6 aureildlér Gupup b 18 Qeis. oyiusssddr pb 6 Cs.8. g

< 24 Qg.. seflé aureflifies s sjeTeneus simeins.

The radius of the top of a bucket is 18 cm and that of the bottom is 6 cm.

If the depth is 24 cm, find the capacity of the bucket.

<evevg / OR
6 Qs.5., 9 Qs.f., 12 Qs.f. syphse 2 Lw ey Cararhsomer o B&HE
9Cr o1 Carerors 2 Baursdlare SECaTengdler b eTaaT 2

Three solid spheres of radii 6 cm, 9 cm and 12 cm respectively are melted

to form a single solid sphere. Find the radius of the resulting sphere.



33.

34.

b)

b)

7 5319
Glmca'mull_rsmmerru westu@sdl (AU B)! = A' N B'eadrgud 1§ wrisefer
dleow sfluriés.
Verify De Morgan'slaw (A UB)' =A! N B/, by using Venn diagram.

<yevevg / OR

96 persdle aufliuarasils 65% Gurt sl ; 52% Cuir @bHlyb ; 40% Gur
weoowrerwd Guadlprisss. 30% Cui sflp whnib EbHub ; 32% Gurt sp
lnbgjl:DA weewTeTapd ; 25% Guir GBS wHMID weewTetapnd ; 10% Gur
Qe CQurfleamears saly tip Gurflseeryb Gueadlpriaer aefle, epesTm)
Qurflsmenyb CuesQsfbseutser assmer ssaSsh 7
65% of the people in a city speak Tamil ; 52% speak Hindi ; and
40% speak Malayalam. If 30% speak both Tamil and Hindi : 32% speak
both Tamil and Malayalam ; 25% speak both Hindi and Malayalam and 10%

of the people in the city speak other different languages, find the

percentage of the people who can speak all the three.
sTyeoliu@Sss : 3x3 - 4x2 - 13x - 6.
Factorise : 3x%-4x2 - 13x- 6.
2gsvevg/ / OR
WD TS etlett smBoer 24. Sjeubmie P ToTeEITEG WHD G\ eresorsefles

@zl urgdl. Cuaud Sudmer allgdHuresmsiiCure BTedT@ L HE erefley,

SHG STCTOTHMNE &IOS,

The sum of three numbers is 24. Among them, one number is equal to half
of the sum of other two numbers but four times the difference of them.

Find the numbers.
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35. a) p+qgx+ 10x2 + 12x3 + Ox* adruyn @G QUTESD eeaflés p. g
2 HweupPlest wdiseven BT as.
If p+gx+ 10x2 + 12x3 + 9x* is a perfect square, find the value of p
and q.
| <éveg | OR
b g6 Gsdassdlar appae; 36 Qe&.8. sgen uyluetey 80 &. Gg.s. aefld
BT BT, SHOESIETE EIT G008,
The perimeter of a rectangle is 36 cm and its area is 80 sq.cm. Find its
length and breadth.
36. a) x-2y 2-8, 3x+y <18, x 20, y 2 0. ageip SjewTUTLBH
QarEl e aueruL Wweplld Siés.
( ueguLgsTer LwETLURSS Caamaulieens )
Draw the graph of the system of linear inequations and find the solution
set :
x-2y 2-8, 3x+y <18, x 20, y 20.
( Graph sheet need not be used )
<svevgs [ OR
b an AL L Slestaxmommy
Gewe 1-2|2-3|2-4|3-5]|4-6|5-6
srev ey ( mngr&&aﬂs‘u ) 6 8 4 9 2 7

AEL

) HLpdler cumewemioliyl ULD QIGTE.

i) Srasesns UTasowyb, S sme SeTaaLb &6 s.

A project has the following schedule :

Activity 1-2|2-3|2-4|3-5|4-6|5-86

Duration ( in weeks ) 6 8 4 Q 2 7

i) Construct the network
)  Find the critical path and project duration.



37.

38.

39.

b)

b)

9 : 8319

rﬁ]grr&sm. Coppsms awps Hpais.
State apd prove Pythagoras theorem.

<eevg [ OR
@mmagggls&r 2| 5 ué.&,ﬂase.:f‘r o6 alLsoms Csrhdng aafle
Ssuallenersibd 6 sriisgyb e Hlepllsaeeayb.
If all the sides of a pafallelogram touch a circle, show that the
para]lelogrém is a rhombus.
(8.1} (=1,=7), (5,5)adu usaisst gty Cariigamnyb yetiefgel
ererdh HTL(HS. | |
Show that the points (3, 1), (-1,-7), (5, 5) are co]linear.

2/evevg) /| OR

2x-y+5=0,x+y+1=0z8u Cpilsr@asa Qo ysdarsigsn yehref
aflursabd, 3x-y + 1 =0 aarp CpiCariype @eoeavursad GCsdhgib

CrrCarligel gLETUTL L& &T600s.

Find the equation of the straight line passing through the point of
intersection of the straight lines 2x -y +5=0and x+y + 1 =0 and

parallel to the straight line 3x-y + 1 =0.

@quumm 16 Qg .f. mg‘)@lb Léﬂé@&.&m Sjemey 57° setey Qameii
QBanuss u&GaTamsdldd uljljuensc)sné. ST,

Finﬁ the area .of an Iisosceles triangle with base 16 cm and vertical
angle 57° . |

2evevg [/ OR
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' b)

40.

b)

10
150 f s uwgwperer @G Ssrursdler 2 dlow Garyrssier a Qg i
LssRseN o dter GBeut 30°, 45° ghpé Cancuigdler LTT&ADTIEET aaile

QoauGEHeD @G e 6fer gy ereTer 2

Two men are on the opposite sides of a tower. They measure the angles of
elevation of the top of the tower as 30° and 45° respectively. If the height

of the tower is 150 m, find the distance between them.

=

16, 13, 17, 21, 18 aetp yeirefl eleuyhsepd® wrpurl®é OCewemeausd

&IT G001 &.
Find the coefficient of variation of the following data :
16, _ 13 17, 21, 18.
<evevg / OR

Avppb Beaip @eeut Graa® a:rraﬂuﬂu&é@&mrrm CpirwssCaiaybeé
Qeeapeari. A CarbOs@&aLliuL @&gpgﬁm% wppd B Cathos@ésluL

Hapsse % aaflé, SpsaTemib Habédlsase Hapssey BTG,

B QBeaumd CaibosRssuudag

i) Qoaflé grart LLED CammbosRssLLGMS
i) @ waumGn Gg,ﬁ'ﬁ@g;@éa&:ﬂul_rrmeb @wlugl.

Two persons A and B appeared for an interview for two vacancies. The

probability of A’'s selection is% and that of B’s selection is % . Find the

probability that
i both of them will be selected
i) only one of them will be selected

iit) . none of them will be selected.



41.

42.

11 ' 5319

u@# -# / PART - D
(wdUQuesmaer : 20) / ( Marks : 20)

egluy | Instruction : Qe Nearésensehd alowef.
Answer both the questions. 2x10=20
a Suussd BC =5 Qsif, m £ BAC = 45°, p0&Car@® AD = 4 Qs.15,

b)

b)

2leteysEpeier W&EGaTERTD ABC-8p Uy s.
Construct a A ABC, given that, base BC = 5 cm, m £ BAC = 45° and
median AD = 4 cm.

<evevg /| OR
6 Qe.8. e L $DE® GO LD cuorhg L st ewvusdenpha 5 C8 ..
grrssles Pasip yereflous eflssan. P-Udepbs alLssibe Qrar®
QsTRCasTRaeT cusrhs CeTRCHTL Q6T HeThGET HTEHAD.

Draw a circle of diameter 6 cm. Draw two tangents from a point P, at a

distance of 5 cm from the centre to the circle. Measure the length of the
tangents.

y=x2-4x+ 6 & cuepuLb cucrhg sl LwsTuRsH x2 +3x+5=0
eTedTD SFWTUTLIGHE QW eped Flvener eratbaeTL (& .

Draw the graph of y = x2 - 4x + 6 and use the graph to show that thel

equation x?2 + 3x + 5 = 0 does not have a real root.

2evevg / OR
xy =30, x, y> 0 & cupuLD s, sl LLSTLRSS x = 5 aaud Curg
y &1 wHleuyd, Yy = 4 ergubCurg x &1 wHleuyD &reTs. '
Draw the graph of xy = 30, x, y > 0. Use the graph.. to find y when x=5

and find x when y = 4.
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